In class  SEQ CHAPTER \h \r 1Discussion Assignment II

We will be examining the 5-to 7-year shift by looking extensively at whether growth in early childhood (2 to 6 years) is affected the same way by factors affecting growth in middle childhood (6 to 11 years). To do this, examine a few specific acquisitions in a particular domain (physical, cognitive, language, or socio-emotional) in Berk’s description of milestones in early (pp. 406-407) and middle (pp. 522-523) childhood.  

As you examine these acquisitions, imagine a child whose development of the target acquisitions was inhibited.  Identify factors associated with such inhibition of a child’s acquisition of specific skills, abilities or achievements. What kind of things could cause a child to be delayed in acquiring the specific acquisitions you are examining? You may discuss any or all factors from the Bio-Psycho-Social model (genes, biology, cognitive, environment, family, culture etc), which may cause the delay.  Be through!


Come to class prepared to talk about factors delaying 3 or 4 specific acquisitions of early or middle childhood within a particular domain. Students will work together to a conclusion about the host of relevant factors.  Then as a class, we will discuss the following three questions:


1.  Whether different domains of development are affected by the same constellation of factors among children of the same age group? 


2.  Whether the same domain of development is affected by the same constellation of factors among children of different age groups?


3. Whether the same constellation of factors can account for development across all domains among children of different age groups?


Theorists who argue for domain-generality in development (Piaget, Freud) would respond in the affirmative to each of the above questions. Those who support domain-specificity (Nativists) would affirm Question 2 but not 1 or 3.  Those who believe only in specificity (IP, Behaviorism) would respond in the negative to all three questions.

